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Q.No: 1 How many times has India organized the Asian Games so far?
2427534
R A fralt IR o da TR Vel &1 Siriier e 82
One
A
Ll
Two
B
@
Three
C
i
Four
D
AR

Correct Ans : B

Subject :

Q.No: 2
2427573

General Knowledge

Select the incorrect statement about SAARC (South Asian Association for Regional Cooperation)-

b (faron ulkmrg st wed Wu) & AR H Tad $U B 9 DY -
It was founded on 8 December 1985

F@ R 8 feiaR 1985 1 S

Its secretariat is based in Kathmandu, Nepal.

! SREIy SISAT, Tura § R 81

Maldives is not a member of SAARC

AT I T 9 T &

Sri Lanka is a member of SAARC

St qE BT TE= §

Correct Ans : C

Subject : General Knowledge

Q.No: 3
2427976

Select the correct statement regarding Partition of Bengal.

I fauTeH & e & AE FUF BT T4 BRI

Viceroy Curzon partitioned Bengal in 1906

TFERA FHoi 7 1906 H ST BT faure fsar

Bengal was the second largest province of British India before partition

oo & ugd sma ffesT HRA T EERT e §91 Wid o

The British gave “administrative convenience” as a reason for partition

SN 7 faueF & FRU F F9 F wRafE gl &

Congress didn't oppose much of the partition
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FIU 7 fAUTeH $1 et fakiy &1 o

Correct Ans : C

Subject : General Knowledge

(22;:\12%9‘:)0 According to a report released by UK's Department of International Trade, India could become the largest importer of the world by 2050.
foreA1 & SR SR faum gRT o) & RAié & S8R, YRd 2050 b g &1 T TIT HAIAH &9 Tl B
second

A
o
third

B
i
first

Cc
ugen
fifth

D
et

Correct Ans : B

Subject : General Knowledge

Q.No: 5  Which of the following statement is not correct about Shooting World Cup-2021?

2430534

R Ay $9-2021 F SR F P9 3 S W YA TG T 82

Shooting World Cup-2021 was held in India (New Delhi).
A

fe fay $9-2021 P1 e YRa(E Rl & gan|

India won a total of 15 gold medals in the Shooting World Cup-2021.
B

Xfén fay $9-2021 & YR A & 15 W0l UgH |

India topped the Shooting World Cup-2021 with a total of 30 medals.
C

[T fay $9-2021 ¥ YR $ 30 Yl F Y i W 3@

In the Shooting World Cup-2021, China finished second with a total of 8 medals.
D

fen fay $9-2021 ¥ €9 T 8 USHT T WY W WH R |
Correct Ans : D

Subject : General Knowledge

Q.No: 6  In which of the following years, the Nehru Report was published?

2433597
Frofefea # 4 oy af Jg Rty g€ o
1932
A
1932
1928
B
1928
1936
c
1936
1924
D
1924

Correct Ans : B

Subject : General Knowledge
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Q.No: 7 When was the Banking Regulation Act passed?

2435780

i faftramm s o i faar mr 2

1935
A

1935

1945
B

1945

1949
c

1949

1955
D

1955

Correct Ans : C

Subject : General Knowledge

Q.No: 8  Which Indian state shares maximum boundary area with China?

2437350
DI A URAT X0 A F w1 i i & | FRal 82
Jammu & Kashmir
A
o 3R BRI
Himachal Pradesh
B
femrEa wew
Uttarakhand
Cc
RS
Arunachal Pradesh
D

BT WS
Correct Ans : A

Subject : General Knowledge

Q.No: 9  Chaitraul festival is celebrated in which state?

2440795
e TeR 5 159 & T o §2
Uttarakhand
A
ITWES
Himachal Pradesh
B
T v
Gujrat
C
ORI
Madhya Pradesh
D

T TR

Correct Ans : B

Subject : General Knowledge

Q.No: 10 It has been declared that the Khajrana Ganesh Temple will soon be powered by solar energy. Where is the temple located?
2440997

Tg N faran man § o wore Mo iR oiew € R S O YR g iR wel fyd 82
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A Indore
R
Bhopal
B
Hrore
Ujjain
C
El
Dhar
D
R

Correct Ans : A

Subject : General Knowledge

Q.No: 11 The Tansen Sangeet Samaroh is celebrated every year in -
2441049

T i TARIE vfdad B T S -
Bhopal

afrer

Gwalior

weRR

Ujjain

I

Jabalpur

TR
Correct Ans : B

Subject : General Knowledge

Q.No: 12\ was the 237 Governor of the Reserve Bank of India?

2441281
R ol §& & 233 TR BH &2
P C Bhattacharya
A
ot <t werarf
S Jagannathan
B
TH S
Dr. Urjit R. Patel
C
3. I o, WA
Dr. Raghuram Rajan
D

BT TR e
Correct Ans : D

Subject : General Knowledge

Q.No: 13 Which year Jagdish Sharan Verma was appointed as a judge of Madhya Pradesh High Court?

2441316
SR TR0 A @ e ¥ v uew 9 e & A & w9 § g fan mn are
1964

A
1964

B 1968
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1968

1973
Cc

1973

1975
D

1975

Correct Ans : C

Subject : General Knowledge

Q.No: 14 Bansagar dam is on the river

2441436
SUEIR &Y TR
Son (Sone)
A
kil
Narmada
B
Tefer
Chambal
C
GEG)
Betwa
D
aar

Correct Ans : A

Subject : General Knowledge

Q.No: 15 Bori Wildlife Sanctuary is situated in which of the following districts of Madhya Pradesh?

2441576
T gofia enaruy A wew & Fafled § § feg o  fua 82
Hoshangabad
A
BRI
Thabua
B
ugan
Mandsaur
C
TEER
Shivpuri
D
R

Correct Ans : A

Subject : General Knowledge

Q.No: 16 Jabalpur was chosen as the Principal Seat of High Court of Madhya Pradesh in which of the following years?

2441693
SR &1 Fafafed 3 9 g af & A vyew & I@ gEed 91 ygd e F 9 § g4 T 9T
1947
A
1947
1956
B
1956

C 1961
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1961

1976

1976
Correct Ans : B

Subject : General Knowledge

Q.No: 17 What is the Sanctioned Strength of Judges in the Madhya Pradesh High Court?

2441725

T TR I e & rnedi 3t Seligd st ST 87

a1
A

a1

a7
B

a7

52
c

52

53
D

53

Correct Ans : D

Subject : General Knowledge

Q.No: 18 Sex ratio of Madhya Pradesh according to census of 2011 -

2441769
2011 & SIVAT & SHTAR HLH Y T ffgurd -
919
A
919
931
B
931
956
C
956
989
D
989

Correct Ans : B

Subject : General Knowledge

Q.No: 19 The Rajpur tehsil town of Barwani provides market for the, farmers.
2441793
TEA PR A MR e & R amiR Suesy a3
Ginger
A
SRH
Chili
B
i
Garlic
G
T
Onion
D
e

Correct Ans : B
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Subject : General Knowledge

Q.No: 20 Jhumar folk dance is related to which of the following states?

2442372
R O T Fofared § 9 e T & w6fia 32
Madhya Pradesh
A
HE T
Maharashtra
B
HRRTE
Rajashthan
Cc
RG]
Jharkhand
D
RIS

Correct Ans : D

Subject : General Knowledge

Q.No: 21 DO stands for:

2422854
Staft &1 e 3
Dissolved oxygen
A
Rafea sifeeiem
Deficient oxygen
B
Sfifte Bt it
Diseased oxygen
C
TR SHfRfor
Detoxicating oxygen
D

feiaiidpfen siftaier

Correct Ans : A

Subject : General Science

Q.No: 22 Which hormone controls the blood sugar level in the blood?

2423008
DI A GHA & H T Th B TR P AR o g2
Adrenaline
A
T
Insulin
B
e
Testosterone
C
TR
Cortisol
D
e

Correct Ans : B
Subject : General Science

Q.No: 23 What are manufactured and distributed without any patent?
2423017
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9T 1T UST & /T MM SR 1R 1641 STl 872

Herbal medicines

A
it g8 A T
Vaccine
B
Gical
Generic medicines
C
SR gang
Vital medicines
D

TeaqY ga1g
Correct Ans : C

Subject : General Science

Q.No: 24 Symptoms of are person specific.

2423051
_ % e afd ke ER 8
AIDS
A
LR
Diabetes
B
AylE
Cancer
C
W
Heart attack
D
Rawrdm

Correct Ans : A

Subject : General Science

Q.No: 25 Solar radiation is measured by using which of the following devices?

2425752
IR fafepzor @ F § § b IudRu 1 ITERT SR Wi Il 82
Barometer
A
Rnfrex
Anemometer
B
TR
Pyrometer
Cc
TR
Thermometer
D
yHHR

Correct Ans : C

Subject : General Science

Q.No: 26 Which one of the following does not come under the invertebrates?

2428730
frofafea & § o1 smAwa & siara T smar g2
ray

A
k3
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slug

squid

fagm

Correct Ans : A

Subject : General Science

Q.No: 27 Choose the odd one out:

2428737
fwm g
Earthworm
A
Fgam
Sandworm
B
Heard
leech
C
Sifes
Sea anemone
D

T CRHA
Correct Ans : D

Subject : General Science

Q.No: 28 Check the odd one out:

2428783
fawm 3t sifg
Kingdom Monera are prokaryotes.
A
APRT TSy MR 1
methanogens
B
T
thrive harsh conditions
C
FoR uRfRfEr & Tod §
bacteria
D
e

Correct Ans : D

Subject : General Science

Q.No: 29  People living in the busy squares face problems like short breathing and other respiratory problems. Due to

2429027
T At T X§ a1 GRiE BT AN A T dHad iR G @l 37 gl SRt geenslt &1 QAT ST USdl 31 39 BRI
Soil pollution
A
T I
Land pollution
B

f¥y v
C Water pollution
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SIRT GO

Air pollution

arg gy
Correct Ans : D

Subject : General Science

Q.No: 30 Which one of the following is not an example of a Rabi crop?

2429202
Fofifed # 3 95 W& 9t GO 31 e T 22
Gram
A
Pl
Cotton
B
U
Wheat
C
b
Peas
D
AR

Correct Ans : B

Subject : General Science

Q.No: 31 The skeleton of sponges is made up of-

2429857
Tl P il et &1 gl B
spongin
A
wfsm
Chitin
B
fafes
mucin
C
AR
collagen
D
PrarorT

Correct Ans : A

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429868
Assertion : (A) Reena encountered an animal that was fish-like metamerically segmented and was a headless coelomate.

Reason: (R) the animal found was a species of subphylum cephalochordate.

Aewr: Fofafea vy § <) w7 € B A @ 9 sy 6k R B "SRU" F wU J d9d 501 T 31 s1ue) 37 9 w3l o) aayrigde Sig Sl § ok R e fawed # 9 uy &1 9 SW
3Hf¥epe: (T) S BT AT U T ISR F gl S WSl 3 kg AeRe wU § Wfsa o1 SRt 1 KR aran Sigamie il

PHRO: (R) UM T FHAR AGHIZeH Ahadbia e I Th Jullfd ATl

(R) is true but (A) is false.

(R) 981 § 3fF (A) T B
(A) is true but (R) is false

(A) 981 8 AP (R) T &
C (A) is false.
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(A) T 81

(R) is the correct reason for (A)

(R) (A) ¥ T T RO §
Correct Ans : D

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “"Reason”.You have to examine these two statements carefully and se
2430044
Assertion(A):Antibiotics given to humans and animals are the same.

Reason(R):Pathogens of humans are the same from animals. So antibiotics are also the same.

e Fafafed uy & @ $uF & T 8 0 31 "aifiieua ok g &1 'SRU" & T § A 51 T §1 Smust 37 SR Sl 31 eyt igde oig SR § ofR T Y fawedt § & vy @1 9l Sw
G (A) @ FHE SR SR Y i o areft Thariifea ua SRt gt 81

PR (R) : AT & IToHD SHGRT & TAF B §1 o Thamifes ot agt §1
Both A and R are true

ARREAITAE

Both A and R are false

A 3R R I o §

A is true but R is false.

A TT & A% R SR 1

A is false but R is true.

A 3G9 § AfFT R T B
Correct Ans : C

Subject : General Science

Q.No: 34 is a natural protein fiber.
2430119
T MRS HeH B B
Silk
A
ko)
Polyester
B
iR
Ethene
C
Loc
PVC
D
Ricitl

Correct Ans : A

Subject : General Science

Q.No: 35 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2430120
Assertion(A): A lot of plastic pollutes our environment.

Reason(R): Plastic sticks around in the environment for ages.

o PofifRa uy & < o7 § O A @ o ey iR g &1 "SR & F9 H A9 591 T §1 1P 37 SHI S 31 Wayrigde ST S § SR T 1 R # § uy 1 98 Sw
SHHBUT (A) @ T AR WIRRE AR Tafarvr H) Ui FHar g1
FHR (R) : @iited qafazer & gt-gril ae faues S g1

Both A and R are true

ARREAITAE
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B Both A and R are false
A IR R 3N 3 §
A is true but R is false.
C
A T ¢ AfF R 3 B
A is false but R is true.
D

A SFT ¢ AT R IT R
Correct Ans : A

Subject : General Science

Q.No: 36 Find the wrong term in the series?

2422595
8, 14, 26, 48, 98, 194, 386
4l | TR A I Uell g2
8, 14, 26, 48, 98, 194, 386
14
A
14
386
B
386
194
o
194
48
D
48

Correct Ans : D

Subject : General Reasoning

Q.No: 37 Find the wrong term in the series?

2422630
12 3 5 7 11 13 17 19
g | TTAd $HH BT gal Ae?
i 2 3 5 7 11 13 17 19
1
A
1
3
B
C
7
17
D
17

Correct Ans : A

Subject : General Reasoning

Q.No: 38 Find the odd word out.
2424524
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ST s BT G BT

Dadabhai Naoroji

A
e Rief
Aurobindo Ghose
B
aRfET O
Bal Gangadhar Tilak
Cc
1 TR foetres
Bipin Chandra Pal
D

ol <% ot
Correct Ans : A

Subject : General Reasoning

Q.No: 39 Find the number of triangles in the given figure.

L7INN
/
L7

Correct Ans : A

Subject : General Reasoning

Q.No: 40 Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426301
AZCX : BYDW :: HQJO : ?

I SHER-THE BT 7 X oY MR 3eR-g A S TR T § I GO S1ER-TG, U5 SHeR-TNg I Weiferd 31
AZCX : BYDW :: HQJO : ?

GRFP

GRFP
IPKM

IPKM
IPKN

IPKN
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GRJIP

Correct Ans : C

Subject : General Reasoning

g;"‘z"ﬁi“‘:)ll Select the option /number which is related to 31 number in the same way as 224 number is related to a
It number?

3:35::4:?

3@ FEAT /faheT & 79T F S AW TEA F 5 GHR WaOT § AY g@Y T qgen
& ¥ e T

3:35:1:4:?

80

80
70

70
60

60
50

50
Correct Ans : A

Subject : General Reasoning

Q.No: 42 In the given diagram, Circle represents the Students who like ice-cream, Rectangle represents the Students who like Chocolate and Square represents the Students who like C

2426611
How many Students like Chocolates and Chips both?
e Mg s #, 39 SIgEEmin WiE He O i a1 vfafifia Far &, e diede g Fe 9 el a1 ufaffva s @ o o vy wie e ard et a1 wfafia s 81
foram el Tedre iR foow <Y wig w0 &2
1
A
1
7
B
7
5
C
5
6
D
6

Correct Ans : A

Subject : General Reasoning

Q.No: 43 Sandeep is the only Son to his father and his father is the father-in-law of Smita’s sister. Smita is Sahil’s niece. How is Sahil related to Sandeep?
2429581
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A 3 e 31 SPea 7 § RS9 fuan R 3t 957 & W ¢ R, Wifed 31 il 1 wifee, wein & 5w veR e[ o7

Uncle
A

e

Father
B

forar

Brother
C

i

Grandfather
D

QIeT/T

Correct Ans : A

Subject : General Reasoning

Q.No: 44 Vini introduces Rohit as the son of the only brother of his father’s wife. How is Vini related to Rohit?

2429595
fat 3 Afea 1 oo i 1 welt F F@aia W1 I & Fu H 9w ) forfl, fea § 9 wafta 32
Cousin
A
B
Brother
B
u
Son
C
kol
Uncle
D
S

Correct Ans : A

Subject : General Reasoning

Q.No: 45  Which answer figure will complete the pattern in the question figure?

2433472
<
ok
Br7-8h IR SR T SR 3 e 1 g
<
s
@
A
@
Y
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Correct Ans : C

Subject : General Reasoning

Q.No: 46 Identify the figure that completes the pattern.

o

I IMPTA I TgaH Y Gl Yot BT G et g

3
S
K.
K.

-
7y

=
=
=
.

Correct Ans : C
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Subject : General Reasoning

Q.No: 47 Identify the class that best represents the Venn-diagram.

2435587
I8 T P U5 HY S I7-31RE T T 357 U Far g1
Types of shapes, Rectangle, Square
A
HR & UK, 31, &
Mammal, cow, bat
B
WU, T, ST
Couple, Married, women
C
1, fafed, Afeamy
Clock, time, second
D

g, W, ds
Correct Ans : A

Subject : General Reasoning

Q.No: 48 Mr. Deshmukh starts from his school, travels a distance of 2 km southwards, and then travels a distance of 4 km towards east, then a distance of 3 km to his right, and then h
2438496 ggst. In which direction is he from his school?

ot ST 3T WA A Y D ¢, 2 el <ror Y o) ann va €, ok Y ol 3 9iR 4 Rt 9t gl v €, R ora e o 3 el @1 ot T v €, SR R aw A s € oIk 4 Tt

South-east
A

afeyor-gd

North-west
B

FR-UEH

South
C

o

South- west
D

gfRor-aftm
Correct Ans : A

Subject : General Reasoning

Q.No: 49  Three of the following four number-pairs are alike in a certain way and one is different. Find the odd one out.

2438853
AR g & A e T @l 3 A 2, T o 31 v @ g
34:7
A
34:7
78:13
B
78:13

C 12:3
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12:3
56:11

56:11
Correct Ans : B

Subject : General Reasoning

Q.No: 50 Three of the following four number-pairs are alike in a certain way and one is different. Pick the number-pair that is different from the rest.

2438921
Froffea 9R den-gel # § &7 g el PR tHaE § Ok TS I R ¥ SEHM STl I §1 99 il
4:65
A
4:65
1:2
B
1:2
3:27
C
3:27
2:9
D
2:9

Correct Ans : C

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2aa0158 If it rains heavily, there will be water logging

A. it rained heavily

B. it did not rain heavily

C. there was water logging

D. there was not water logging

e T gy H @1 HF SR IS 918 TR HUF T Y BT BT GH T, T Ted ST BT AR TR HYF W 7, R & FUF AP TY ¥ BT FUT A T T
SR 1 SR g€, <SS g1 S

A R SR g8

B. R IR et g8

C. Il STHIE T

D. STl SIHTd gt AT

AC
A

AC

BA
B

BA

DA
C

DA

CD
D

CcD

Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440253

The unemployment will be on rise if we don’t have vocational courses.

A. we don’t have vocational courses

B. we have vocational courses
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C. The unemployment will be on rise

D. The unemployment is not increasing

T T uy B g B SR IUF §1E TR HUF §1 HYHT BT BT I g, T8 Ugd BT B AR R HYF W 7, R & FUF Qi TU Y T8I FUF A W 7
IfE TR UTY AEIS UIGTHH Ta1 § al SRISFIRT Fgiii|

A. BUR U SIaHIis WeusH T §

B. §AR U SHGHIIS UIGUshH §

C. TSR Fewht

D. SRR 7 5 7

BD

BD
BC

BC
DA

DA
DB

DB
Correct Ans : D

Subject : General Reasoning

%&0:4523 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
0420 The candidate should be either honest or hardworking
A. The candidate was honest
B. The candidate was not honest

C. The candidate was hard working

D. The candidate was not hard working

T QY § W1 U SR IS A TR FUA 81 YA T BRI I A, T Ugd FYA BT A g FYF 9 B, SR € T i U § 781 FF F I 8
Iwficar @ $HFRER A1 Agct B AIfRY

A. IHIGER $AFER o1

B. SFleaR $ATFER ol o1

C. IieaR AgTdt of

D. Infigar Agdt el ot
AB

AB
DA

DA
CA

CA
BD

BD
Correct Ans : B

Subject : General Reasoning
Q.No: 54 Select the related letters from the given alternatives.
2441961

WUS : DFH :: MKI : ?

Ru M fawedl § A FEfa srert 3 g
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WUS : DFH :: MKI : ?

LIJH
A

LJH

GEC
B

GEC

0Qs
C

0Qs

NPR
D

NPR

Correct Ans : D

Subject : General Reasoning

Q.No: 55 Select the option that is related to the third word in the same way as the second pair is related to the first pair.

2441972
Karnataka : Yakshagana :: Assam :?
I9 faded o1 797 Y St R Teg F S TR e § S ERT TeE IRl Wes & Haifdd gl
PACH : G :: SH : ?
Mohiniyattam
A
Afeftergn
Ghoomar
B
W
Bihu
C
fag
Gidda
D
forer

Correct Ans : C

Subject : General Reasoning

Q.No: 56  Simplify: 369~ [146 - {27 +3(65 = 13)}]

2422370

TR BTG 369 +[146 - {27 =3(65 = 13)}]

473
A

473

476
B

476

289
C

289

-278
D

-278

Correct Ans : A

Subject : General Maths

Qimnlifer- S _TMA_ f17 /A _ 1A=« I\t
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Q.No: 57 TUUETIITT LT wem s em = o

2422385

A S 58-[16- {12-(34-16=2 x3)}]

30
A

30

35
B

35

aa
c

aa

40
D

40

Correct Ans : C

Subject : General Maths

Q.No: 58 Find the compound interest on Rs.17000 for one year at the rate of 28% per annum, if the interest is compounded quarterly.

2423607
17000 ¥ T 28% Wi 3¢ T X A & o $1 Tl sam1 F1q P, I =m0 SARew 24 31
Rs.1324.3218

A
Rs.1324.3218
Rs.3214.3487

B
Rs.3214.3487
Rs.512.11221

c
Rs.512.11221
Rs.5283.53217

D

Rs.5283.53217
Correct Ans : D

Subject : General Maths

Q.No: 59 Yogesh borrowed a sum of Rs.89400 from a finance company to purchase a Bike. If the rate of interest is 8% per annum compounded annually, calculate the compound interes

2423622
AT A TF T3S Wher & [T TF BTz S0 & 89400 TUA Tt MR IUR ol | Al =1t 33t &R 8% Wiy af anfifes wiifora 8, o 39 Tevafs: SO 351 T0MT 6% SN W) Y 3 I & 91G SO BT AT
Rs.3217.2376

A
Rs.3217.2376
Rs.23218.2528

B
Rs.23218.2528
Rs.0987.3211

c
Rs.0987.3211
Rs.4212.4776

D

Rs.4212.4776
Correct Ans : B

Subject : General Maths

Q.No: 60 Solve:
2428587
{7.89x7-2525+5+4.2x5-[44.8+8-25+(22.5-5.2 x 4)]}
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T B

{7.89x7-2525+5+42x%x5-[44.8 +8-2.5+(22.5-5.2 x 4)]}

20.63
A

20.63

20.79
B

20.79

20.93
Cc

20.93

-20.93
D

-20.93

Correct Ans : C

Subject : General Maths

Q.No: 61 Out of three numbers, the first is twice the second and is half of the third. If the average of the three numbers is 56, then difference of the first and third number is?
2432572

o el &  ugch Tom gud Y g € iR e Bt ot B 3 i Temelt 3 sia 56 ®, O el SR < Tem 1 SiR T 82

12
A

12

36
B

36

24
c

24

a8
D

a8

Correct Ans : D

Subject : General Maths

34'1‘26%23 3&-9) =27 & 3 &*Y) =243, then x is equal to:

g 36-9 =27 & 3GV =243, TG x R 8:

1]
A

[1]
B

2

4
C

4

8
D

8

Correct Ans : C

Subject : General Maths

(22;‘!\13%76433 [S(x+y +2)+ 4(x + 2)+ 3y]
Ifx2 +y? + 22 = 2(yz + Xy — zx). then find the value of 8(x +2)
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[S(x+y+2)+ 4(x + 2)+ 3y]

q@xz+yz+zz=2(yz+xy—zx)%,a 8(x+2) DI HA A PR

@|%

@3

|3

JE

o1

Correct Ans : A
Subject : General Maths

K hhial ‘ Xt ext) 7
5 1 l x?
If © "% 7% then find the value of ¥ -702x° <4
[ x* +3x2 -
X+ 1 79x 2 LI S y
gfe ¥ *% =77 Q. A ¥ —702x7 -4 PT HM T PR
24.5
A
24.5
23.5
B
23.5
30
C
30
25.5
D
25.5

Correct Ans : A

Subject : General Maths

Q.No: 65

2435218 If the cost price of an article is - of its selling price, then the profit or loss percent is

4, foeft o o1 oh - e Ak s 1 2 8, l an T g1 el ©

33 i % profit

333 %M

33194 loss
3
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33 é %% profit

33§Bafﬂu

Correct Ans : B

Subject : General Maths

Q.No: 66 What will be the loss percentage, if bananas purchased 6 for Rs. 10 and Sold 4 for Rs. 6 ?

2435238

¥ 10 & 6 Bl G Bl @AGDR T 6 H 4 B QX ¥ 997 R fave ufarra @ity gl 2

6%
A

6%

5%
B

5%

20%
c

20%

10%
D

10%

Correct Ans : D

Subject : General Maths

Q.No: 67 A person purchased a sofa set for Rs 3200. He spends Rs 100 on transportation and made a cover in Rs 700. Still he disliked it and sold the complete set in Rs 3500. What is t

2435298
TP fE A 3200 T9A H T GopT Ve @1l ST 100 9 IRaeT W 39 5T SR 700 T08 HaR R g 5l R f S g7 udie e emar ofR I 1 9T 3500 Fu H 99 famm wfd #1 ufn
2 04 loss
2
A
Bogif
z—qs-%proﬁ'(
B
Eoyam
2
— % loss
C
Z e
15 %loss
D

Correct Ans : A

Subject : General Maths

522"""307:46786 This moming Ram bought 1 pound of cake. In order to eat with his family, he used 3 of a pound.
how much does he has leftin the refrigerator?
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3T G I A 1TSS Bl e Tl | U URAR & R e T & g, S 2 4TS 1 Sl
a1 perex | faT s T 32

2

3
A

1

4

3

3
B

3

3

e

3
C

2

3

1

3
D

1

3

Correct Ans : A

Subject : General Maths

Q.No: 69 One-sixth of the trees in a garden are neem trees. Half of the trees are Ashoka trees and the remaining are eucalyptus trees. If the number of neem trees is five, how many e

2437496
T S g4t § 1 F gei 3 TS UH-TEal U 1 1Y gef SRIE F ¢ SR AW LHReT F 1 A& 1 F g6l 3 Jom 5 §, 6 9 § gHfows F fha g
5
A
5
10
B
10
15
c
15
20
D
20

Correct Ans : B

Subject : General Maths

Q.No: 70 One-fourth of a balls in a box are red. Half of the balls are green and the remaining are blue balls. If the number of red balls be 10, how many blue balls are in box?

2437556
& e T g A g A €1 oneft 71 58 ok A 12 fiefl 31 af e 76T @ wem 10 §, o 39 siew F fe Al 71 g2
20
A
20
15
B
15
10
c
10
12
D
12

Correct Ans : C

Subject : General Maths


https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eoogle Play

Q.No: 71 If in a symbolic language ‘HARA’ is written ‘IBSB’ then ‘ARAH’ will be written in the same language as?

2422545
Tfe; &t wibfae HIST & 'HARA' &1 'IBSB' forgT WY ot 'ARAH' 1 It et & forar smgrm R
BSIB
A
BSIB
SBIB
B
SBIB
IBSB
c
IBSB
BSBI
D
BSBI

Correct Ans : D
Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘PEN’ is written ‘NZO’ and '‘BARK’ is written ‘CTSL’ then *PRANK’ will be written in the same language as?

2422575
Tfe; foreft Wibfas o & 'PEN' &Y 'NZO' fermar WreT § 7R 'BARK' @1 'SLIM' fram ST § < 'PRANK' 1 It w1 # feran som forrii?
NzTOL
A
NZTOL
CSTZN
B
CSTZN
NSTOL
c
NSTOL
NTSLO
D
NTSLO

Correct Ans : C
Subject : Mental Ability

Q.No: 73 In a row, Samiya is 11% from left end and 17* from right end. Then find the total number of students in

2425593 e given row?
T U F Wit a1 R F 11 ofR T SR 174 1 & @ 7 ufem A faenfidt @ pa S @ SR
25
A
25
24
B
24
27
c
27
26
D
26

Correct Ans : C
Subject : Mental Ability

Q.No: 74 In a certain code, 33946 is coded as PPOAL and 1987 is coded as ROSE. How is 94678 coded in that code?
2426511
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TH [HIFd HIS H, 33946 BT PPOAL & ¥U H 3R 1987 HI ROSE & U H DIISd [T SIdl 1 I B H 94678 B ¥ Hedx bl OIdl §?

ROSEP
A

ROSEP

OALES
B

OALES

POALE
C

POALE

OSEPL
D

OSEPL

Correct Ans : B
Subject : Mental Ability

Q.No: 75 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430255 gtatements. Indicate your answer.

Statements: The education system has progressed from the point of view of the number of colleges, most of them are ill equipped and have not achieved excellence in fair ec
Conclusions:
I. In future, we should provide good professors and equipment to these schools.

II. We need not open any more schools in the future.

Frofefaa usit &, < Fu < ey 1, 11 $T1 SFRRU SR § S1US1 GHT U TR TR S g, 4 € 3 omraR W id gl 3 v 89 @il smst B faw T s & ol e & & e 7em

Fv: Rign yoneht Aeidemet @ Gen & R ¥ o 9t 7, I ¥ e smafn wu ¥ gufer § ok 39 Freer e § sova st 8 31 81
s

1. Hfer & g8 37 WGal B 3= MHW IR SUSR JudS! FRM AT

11 38 4w § ofR wa =1t @ =nfgul

Only conclusion I follows

A
Fawt ey 1 IrgeR SR §
Only conclusion II follows
B
Faa e 11 TR0 B3l §
Either I or II follows
C
Trdl 19T 11 SRR Il §
Neither I nor II follows
D

DI RS 1T RO Rl §
Correct Ans : A
Subject : Mental Ability

Q.No: 76 In a certain code language, ‘LSSOUL' is written as ‘"NOUKWH'. What is the code for ‘ENTITY in that code language?

2434432
TF P e U #, *LSSOUL’ 1 *"NOUKWH’ & &4 1 fera S §1 It §e o # ‘ENTITY’ & 1T 341 % 82
GHEVEV
A
GHEVEV
DHTDTC
B
DHTDTC
GIVEVU
c
GIVEVU

D JGSUsSwW
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JGSUsSwW

Correct Ans : C
Subject : Mental Ability

Q.No: 77
2435468

In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance ft
Statements:

I. All cycles are bikes.

II. All bikes are cars.

II1. All cars are trains.

Conclusions:

I. Some trains are cycles.

II. All cars are cycles.

2 fog T vy F i A Ry e § o a1e @ e 18R 11 U T § 1 St A T Sl 1 e A |, 4T €1 3 e el @ i Tl 91 8 SR e qw o o5 e a1 e fog e
B

1. ot Ifea a5 71

11. 9t 95% FR g

L e FR 8

frspy:

1. T ¢ ORfFa §

11 ft FR wEfra 8

Only conclusion I follows.

Fa e I e Har B

Only conclusion II follows.

P =Y 11 TR0 B B

Both conclusions I and II follows.

ST s 1 3R 1T SFERT R Bl

Either conclusion I or II follows.

1 & s 1 a7 11 SR T B

Correct Ans : A
Subject : Mental Ability

Q.No: 78
2435528

In the following question, some statements followed by some conclusions are given. Taking the given statements to be true even if they seem to be at variance from commonly
statements.

Statements:1. All wheat are grain.
2. Some wheat are flour.
Conclusions:I. Some grain are flour.

I1. Some flour are wheat.

12 R e uy § $7 FUF 3R SAF 918 S7 FUHI R eia Fo Feed Ry e §, g s am i qwt S i § wwdt 31 i fed a3 ok fve Peffva o i R e em § fe,
FU:

1. ot g 3 B

2. T g AT Tl

frsay:

1. $T 3 31T &1

1L $ el 3 7

Only conclusion I follows

Faa s 1 98§

Only conclusion II follows

Faq ey 119G ¥

Both I and II follow


https://applink.adda247.com/d/XhqWf9lSap

Addal247

Sl e 1 SR 11 T

Neither I nor II follows

1 e 1 7 & A e 11
Correct Ans : C
Subject : Mental Ability

Q.No: 79 How many pieces are obtained by making two parallel cuts on a cube?

2438388
T 91 W &l GAFR $ aTH F fHa s U g 82
2

A
2
3

B

C

D
5

Correct Ans : B
Subject : Mental Ability

c2221N3°s:58501 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
S<LLI=P=2E>R
Conclusions:
I.L>R
II.P>R

fAFATad 9 A, FYUAT & dlg, ooy 6T 71w §
T T FHo=T & HUR R FAowd & 37ea9e B AR 39 Secl & F7 & 39gad Admed & a7 |

Only conclusion II is true

A
Faa Frey 11 99 §
Only conclusion I is true
B
Faa Py 1 9T 7§
Either conclusion I or II is true
G
g o aad
Neither conclusion I nor II is true
D

TafEf I iRT@ITTR
Correct Ans : A
Subject : Mental Ability

Q.No: 81
2438572

GET IT ON

Google Play
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In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.

Statements:

P>M>Q>Z>N

Conclusions:

IL.M>2Z

I. N<P

TAFAfaTld e &, Bl & alg fovad (U a1 )

T 97T FHoT & HUR R AR &7 Heqaer S AT 39 3 & &9 F 59Gad [aamed &l 99 i
Fue:

P>M>Q>Z>N

forsad:

LM>2Z

ILN<P

Only Conclusion I follows

A
Faafef19a g
Only Conclusion II follows
B
Faa e 119§
Either Conclusion I or II follows
C
a7 3 e 1A 11 W R
Neither Conclusion I nor II follows
D

ECie 2 EERis &k
Correct Ans : B
Subject : Mental Ability

Q.No: 82

2438601 [N the following question, the statements are followed by conclusions. Study the conclusions based on the given

statements and select the appropriate option as your answer.
Statement:

P2Q=R>S>T

Conclusions:

I.LP2T

ILT<Q

TrEAfiRag 939 &, FUET & a1g, Hewy 8T 71T §

fEU 97T Tt & HUR R TR & 7679 & AT 39 3ecX & §I  59Gad fdaed & 99 F
FU:

P>2Q=R>S>T

forsad:

LP=T

IL.T<Q

Only conclusion I follows

Faa Y 19T ®

Only conclusion II follows

Fae Fepd 119§

Either conclusion I or II follows

TRl rTrvas

Neither conclusion I nor II follows

AR I IRARIITTR
Correct Ans : D
Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439087
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Statements:

Some cards are rods.
No rod is a ball.
Conclusions:

I. All cards are balls.

II. No ball is card.

A2 e T vy § ) FUT AU IS Ty 3§ Py 1t 11 RT T E | onul AT T o @Y e T 7, M §1 98 waad axdi ¥ i i 10 g 9 Sl & SIUR TR SIUT SOl SR A | |
FY:

T FIE TS B

B s e T 71

frsny:

1. 9t S S €

11. 71 §fa #1€ 3

Conclusion I follows

Y 1 SR Il &

Conclusion II follows

Iy 11 SIgER FRal §

Neither conclusion I nor II follows

7l Frend 1 iR T & 1T IRy B @

Both conclusion I and II follow

ST FIspY 1 iR 1T SRR 3xa &

Correct Ans : C
Subject : Mental Ability

Q.No: 84 Which one of the given responses would be a meaningful order of the following words?
2442683

1. Million

2. Ten

3. Thousand

4. One

5. Hundred

Frofifed e § 9 sH-w e R R 5 &t & ade 59 @1 axiar 82
1 faferem

2.59

3. TR

4.7F

5.

1,2,4,3,5

1,2,4,3,5
1,5,3,2,4

1,5,3,2,4
4,2,3,51

4,2,3,51
4,2,5,3,1

4,2,53,1
Correct Ans : D
Subject : Mental Ability
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Q.No: 85 #'@IIYS LIS IUNUWINY WUIUS @3 PEI UICH UIUSH 1 LiE Uikuuniary.

2442720
1. Weather

2. Weasand
3. Wealth
4. Weapon

5. Weekend

Frofifea Il o1 T # Ry Te wa & orur fifdu
1. Weather

2. Weasand

3. Wealth

4. Weapon

5. Weekend

3,2,41,5

3,2,4,1,5
3,214,5

3,2,1,4,5

3,4,2,1,5

3,4,2,1,5

3,4,1,25

3,4,1,2,5
Correct Ans : C
Subject : Mental Ability

Q.No: 86 Anil can do a piece of work in 180 days. How much work can he do in 18 days?
2423687

S Uw B $Y 180 Al F TR FdHar 71 a5 18 Al F a1 o IR T 32

(AR

O | =

wiN

2
5
Correct Ans : B

Subject : General Aptitude

Q.No: 87 Which of the following is divisible by 17?
2427636

Fofifaa § 4 oF 17 3 Ry 32
A 345117
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345117

294038

294038
2840281

2840281
2095852

2095852
Correct Ans : A
Subject : General Aptitude

Q.No: 88 The sum of the ages of five children born at the intervals of 3 years each, is 50 yrs. What is the age of the youngest child?

2431229
o ol & i & o 5 el B SMY PT HA AN 50 TN g1 T BIC T B g T g2
a3
=3
c 3
o g

Correct Ans : A

Subject : General Aptitude

Q.No: 89 In the given figure, AB divides «DAC in the ratio 1:3 and AB = DB. The value of x is:

2431350
A [
108"
o 8 c
& E Sl H, AB, ~DAC F 1:3 F ourd H faunforg ol § 9iR AB = DB B x 1AM 8:
A E
108"
o B c
90°
A
90°
80°
B
80°
100°
C
100°
70°
D
70°

Correct Ans : A

Subject : General Aptitude

Q.No: 90 The distance between two cities is covered in 3 hours and 15 minute at a speed of 52 km/h. If the speed is increased to 65 km/h. how much time would be saved?

2435981
<RI & og B g 52 ot 7 g 3t 1fa A 3 92 9k 15 e # aaR 9 ol 31 3fe wifa @1 65 [t/ Hel a sern wiar 81 e T 5w s
42 minutes

A
42 fiFe
45 minutes

B

45 fiFe

(o} 39 minutes
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39 e

40 minutes

40 e

Correct Ans : C

Subject : General Aptitude

Q.No: 91 Hari takes 7.5 hours more than Manohar to travel from city A to city B whereas at double the speed he takes 5 hours less than Manohar to do the same. If the distance betwee

2436027
R, IR P TN A IR A I IR B 0@ I B § 7.5 g1 o a1 § 99 78 oot S 7 & amn oan @ < I a1 31 H § Y TR § 5 el $H I Al g1 A MR A SR TR
17.5
A
17.5
22
B
22
25
c
25
&4
i 284
7

Correct Ans : B

Subject : General Aptitude

Q.No: 92 Distance between two stations is 128 km. If two trains moving from station P and Q towards each other at same time meet after 2 hrs. If both train moving in same direction t

2436040
AR T T g 128 W R AR ATTRIAP & Q I T W T NG TP & T W =l § of 2 902 71 firercht ¥1 3l G 37 o & o & =2 it 16 w0¢ 91, fiyerch @ f S S it <
30 km/h and 24 km/h

A
30 i/ ver 3R 24 it/ e
36 km/h and 30 km/h

B
36 fift/eer 3R 30 frht/eer
28 km/h and 30 km/h

c
28 et/ ver ok 30 Rt/ ger
36 km/h and 28 km/h

D

36 fwft/ver 3R 28 it/ ver
Correct Ans : D

Subject : General Aptitude

Q.No: 93 A can do a piece of work in 18 days. He worked for 12 days and B finished the remaining work in 8 days. In how many days B alone will complete the whole work?

2436094
ATl I 31 18 37§ TR ¥ar §1 S 12 &7 & fan oiR 9 w1 B 7 8 7 F g1 a1 B ol ¥ W B foba A # @ X bt 97
16 days
A
16 7
24 days
B
2437
28 days
C
28f
29 days
D

29 f&7
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Correct Ans : B

Subject : General Aptitude

Q.No: 94  The length of the longest pole that can be placed in a room 16m long, 8m wide and 11m high is :

2436139

16m T, 8m M3 R 11m I TR & a1 qad 3ife v e a1 o gl 82

20 m
A

20 m

21m
B

21m

19m
C

19m

18 m
D

18 m

Correct Ans : B
Subject : General Aptitude

Q.No: 95  The greatest number of four digits which is exactly divisible by 24, 36 and 54 is:

2436158
IR 3P B AT T TS O 24, 36 AR 54 F fyepa faura B:
9924
A
9924
9990
B
9990
9960
C
9960
9936
D
9936

Correct Ans : D
Subject : General Aptitude

Q.No: 96 When a number is divided by 56, the remainder will be 29. If the same number is divided by 8, then the remainder will be -

2436170
el Tem @1 56 § U 3 W AV 29 of1aT B A I G B 8 F HIT far W, o AW -
6
A
6
7
B
7
5
c
D
3

Correct Ans : C

Subject : General Aptitude

Q.No: 97 The sum and difference of HCF and LCM of the two numbers are 592 and 518 respectively. Find both the numbers if the sum of these two numbers is 296.
2436979


https://applink.adda247.com/d/XhqWf9lSap

Addal247

3 Hemelf ¥ 9.9.9. 3R W.H.U. F A qUT SR HHRT: 592 3R 518 B I TBAT 1 I, afe 37 T Sameii 1 dm 296 71

185, 111
A

185, 111

186, 144
B

186, 144

185, 121
C

185, 121

123, 345
D

123, 345

Correct Ans : A

Subject : General Aptitude

.No: 98
3444431 Amit can do 50% of the job in 16 days, Binit can doi” of the job in 24 days. In how many

days can they do %‘3 of the job working together?

afa T = H50% mffmﬁﬁﬁ‘mﬁmzﬁﬁmaﬁm%imﬁy et 7w
ST 1 O A FIH T G FH 207 2 P et o e <

24
A

24

28
B

28

27
C

27

42
D

42

Correct Ans : D

Subject : General Aptitude

Q-No: 99 Ty express trains 280 meters and 220 meters in length are running towards each otherin
2444483 parallel wacks one at therate 65 km hour and another at 335 km hour .In how many second
will they be clear of each other from the moment thev meet?

=1 CFETR wenteat ST dariat 7asn 280 Wz AU 220 W ) AR wziEt e
Forafea fasmatt & <rs T ) sy it #=en 65 =T aar ssffazr g e
Fraa 9g (3. §) T2 TF T FT AL QA2

6
A

6

9
B

9

12
C

12

15
D

15

Correct Ans : D

Subject : General Aptitude

GET IT ON

Google Play
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Q.No: 100 DIRECTIONS: In each of the following number series a wrong number is given. Find the wrong number.

2444666
5, 8, 15, 26, 50, 98, 194
e v Pofaied sa § U Tad B & T {1 T We 91 1
5, 8, 15, 26, 50, 98, 194
15
A
15
26
B
26
50
c
50
o8
D
98

Correct Ans : A
Subject : General Aptitude
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